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Introduction



About Paper 3


Paper 3 Rebellion and disorder under the Tudors, 1485–1603, combines a depth study of challenges to authority with a broader thematic study of changes in Tudor government. Paper 3 tests you against two Assessment Objectives: AO1 and AO2.


AO1 tests your ability to:





•  organise and communicate your own knowledge



•  analyse and evaluate key features of the past



•  make supported judgements



•  deal with concepts of cause, consequence, change, continuity, similarity, difference and significance.





On Paper 1, AO1 tasks require you to write essays from your own knowledge.


AO2 tests your ability to:





•  analyse and evaluate source material from the past



•  explore the value of source material by considering its historical context.





On Paper 2, the AO2 task requires you to write an essay which analyses two sources which come from the period you have studied.


Paper 3 is worth 30 per cent of your A-level.


Structure


Paper 3 is structured around two themes and five key topics.


The exam is divided into three sections, which relate to different aspects of your course:






	
Aspect of the course 

	
Exam 






	1: Challenging the succession, 1485–1499

	Section A (AO2) and Section B (AO1)






	2: Challenging religious changes, 1533–37

	 






	3: Kett’s Rebellion, 1549

	 






	4: The Revolt of the Northern Earls, 1569–70

	 






	5: Tyrone’s Rebellion, 1594–1603

	 






	Theme 1: Changes in governance at the centre

	Section C (AO1)






	Theme 2: Gaining the co-operation of the localities

	 







The exam


The Paper 3 exam lasts for 2 hours and 15 minutes, and is divided into three sections.


Section A and Section B test the depth of your historical knowledge of the five topics:





•  Section A requires you to answer one compulsory question concerning a single source. You should spend 15 to 20 minutes reading the source and planning your answer, and around 35 to 40 minutes writing the essay.



•  Section B requires you to write one essay from a choice of two. As this is a depth paper, questions can be set on single events. Section B essays usually test your knowledge of a shorter period than Section C. You should spend 35 to 40 minutes on Section B.



•  Section C requires you to answer one question, from a choice of two. Questions in Section C will focus on the two themes. Questions will cover at least 100 years. Questions can focus on either themes, or may test knowledge of both themes. You should spend 35 to 40 minutes on Section C.





How to use this book


This book has been designed to help you to develop the knowledge and skills necessary to succeed in this exam. Each section is made up of a series of topics organised into double-page spreads. On the left-hand page, you will find a summary of the key content you need to learn. Words in bold in the key content are defined in the glossary (pages 107–8). On the right-hand page you will find exam-focused activities. Together, these two strands of the book will take you through the knowledge and skills essential for examination success.


Examination activities


There are three levels of exam-focused activities.





•  Band 1 activities are designed to develop the foundational skills needed to pass the exam. These have a green heading and this symbol. [image: ]




•  Band 2 activities are designed to build on the skills developed in Band 1 activities and to help you achieve a C grade. These have an orange heading and this symbol. [image: ]




•  Band 3 activities are designed to enable you to access the highest grades. These have a purple heading and this symbol. [image: ]






Each section ends with an exam-style question and sample answers with commentary. This should give you guidance on what is required to achieve the top grades. [image: ]





1 Challenging the succession, 1485–99



Henry Tudor’s hold on the throne, 1485–87


Background


A nation’s government, security and well-being depend on the character and strength of its ruler. This was particularly true during the Middle Ages, when kings had the power to pass laws, raise revenue and make war. Richard III’s seizure of the throne encouraged claimants like Henry Tudor to challenge him for the crown. However, following Henry Tudor’s seizure of the throne in 1485 he became the target of claimants who thought of him as the usurper and their claim to be superior. Therefore the first two years of Henry’s reign would define his kingship and either strengthen his hold on the throne or weaken it.


Claim to the throne


Henry’s claim to the throne was open to challenge because it was so weak. He was well aware that recent history was against him. Richard III’s two-year reign had been successfully challenged so Henry knew that he must do all he could to consolidate his hold on the throne.





•  Henry’s claim came through his mother, Margaret Beaufort, who was a direct descendant of Edward III by the marriage of his third son, John of Gaunt, Duke of Lancaster, to Katherine Swynford. However, the fact that John and Katherine’s son John Beaufort (Margaret’s grandfather) had been born prior to their marriage weakened any future claim to the throne by this line of descent.



•  Henry inherited royal blood from his father, Edmund Tudor. Edmund’s French mother, Catherine, had been married to Henry V before she became the wife of Edmund’s Welsh father, Owen. Edmund was the half-brother of Henry VI, who raised him to the peerage by creating him Earl of Richmond. Therefore, Henry VII was the half-nephew of the King of England and a member of the extended royal family.



•  In reality Henry’s claim to the throne rested on his victory in battle. That he had defeated and killed King Richard III was regarded as a sign that God had approved of Henry’s assumption of power.





Keeping the throne


Henry VII aimed to maintain his hold on the throne and establish his dynasty by securing the unchallenged succession of his descendants. His policies at home and abroad were shaped and dictated by this aim. Therefore, his goals were simple: to secure his throne and strengthen his dynasty.
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Below is a sample exam question and a paragraph written in answer to this question. Why does this paragraph not get high praise? What is wrong with the focus of the answer in this paragraph?




How far do you agree that Henry VII’s claim to the throne was weak?
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Henry’s claim to the throne was weak because his father was an earl and not a king. His grandfather was not even an Englishman; he was a Welsh squire. Henry’s claim through inheritance was weak because it descended through the female line. Henry was an exiled earl who took a gamble on winning the throne by invading England and facing Richard III in battle.
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[image: ] Support or challenge?


Below is a sample exam question which asks to what extent you agree with a specific statement. Below is a list of general statements which are relevant to the question. Using your own knowledge and the information on the opposite page decide whether these statements support or challenge the statement in the question.




How far do you agree that the main reason Henry VII succeeded in establishing the dynasty in the years 1485–99 was the strength of his royal connections?









	 

	
SUPPORT 

	
CHALLENGE 






	Henry VII was descended from Edward III

	 

	 






	Henry VII was a hard-working and energetic monarch

	 

	 






	Henry VII was the half-nephew of Henry VI

	 

	 






	Henry VII had the support of the Pope and the Church

	 

	 






	Henry VII controlled the nobility

	 

	 






	Henry VII married Elizabeth, the daughter of Edward IV
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Securing the Crown


The impact of the battle of Bosworth, 1485


Henry Tudor, Earl of Richmond, was a usurper whose claim to the throne rested on his victory in battle. Having defeated and killed King Richard III, it was considered a sign that God had approved of Henry’s seizure of power. However, Henry’s victory at Bosworth did not guarantee his survival and for the first two years of his reign his hold on the throne remained precarious.


Measures to secure his throne


With little knowledge of England and limited experience in government, Henry knew that he had to prove himself a strong king. In an era of personal monarchy the ruler was responsible for policy, which meant that everything depended on the King’s energy, interest and willingness to work.


In order to retain full control of his kingdom Henry would have to





•  establish effective government



•  maintain law and order



•  control the nobility



•  secure the Crown’s finances.





He would also need sound advice, friends abroad and success in defeating the challenges to his throne.


Henry put in place a series of measures to secure his throne:





•  He dated his reign from the day before Bosworth. Therefore, Richard and his supporters could be declared traitors which meant that their estates could be seized.



•  He arranged his coronation before the first meeting of parliament and before his marriage to Elizabeth of York. Thus it could never be said that parliament made him King.



•  The birth of a son and heir, Arthur, in September 1486 helped establish the dynasty.



•  He enlisted the support of the Church and gained control of the nobility.



•  He secured the support of the Pope and the Kings of France and Spain, who recognised the legitimacy of his kingship.





The roles of the Yorkist and Lancastrian factions


To maintain his hold on the throne Henry would have to manage the rival Yorkist and Lancastrian factions both at court and in the country. Following their defeat at Bosworth there were still a number of important Yorkists alive. One of the most dangerous was Edward IV’s sister, Margaret of Burgundy. To heal the rift between the competing factions Henry married Elizabeth of York, the daughter of King Edward IV. This united the Houses of Lancaster and York and dissuaded many Yorkists from challenging Henry.


Surviving Yorkist nobility were either pardoned or killed.





•  Edward, Earl of Warwick – The ten-year-old Warwick was sent to the Tower of London. He remained in prison until 1499, when he was executed.



•  John de la Pole, Earl of Lincoln – Lincoln was invited to join the King’s Council. He remained loyal until 1487, when he fled the court and was killed at the battle of Stoke.



•  Thomas Howard, Earl of Surrey, and Henry Percy, Earl of Northumberland – Both were pardoned because they were prepared to work with the new regime.



•  Francis, Lord Lovell, and Humphrey and Sir Thomas Stafford – They were executed because they were unwilling to work with Henry.
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Below is a sample exam question which asks how far you agree with a specific statement. Below this is a series of general statements which are relevant to the question. Using your own knowledge and the information on the opposite page decide whether these statements support or challenge the statement in the question and tick the appropriate box.




How far do you agree that Henry VII’s success in securing his hold on the throne was largely due to the support he received from abroad?









	 

	
SUPPORT 

	
CHALLENGE 






	Henry dated his reign from the day before Bosworth

	 

	 






	Henry was victorious at the battle of Bosworth

	 

	 






	The birth of a son and heir established the dynasty

	 

	 






	Henry controlled the nobility

	 

	 






	The Pope and the King of Spain recognised his kingship

	 

	 






	Warwick was executed in 1499

	 

	 






	Henry successfully dealt with the Yorkist factions

	 

	 






	Margaret of Burgundy plotted against Henry VII
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[image: ] Eliminate irrelevance      [image: ]


Below is a sample exam question and a paragraph written in answer to this question. Read the paragraph and identify parts of the paragraph that are not directly relevant to the question. Draw a line through the information that is irrelevant and justify your deletions in the margin.




How accurate is it to say that Henry VII’s prospects of holding on to his throne improved significantly after the birth of a son and heir?







[image: ]


In some respects it is fair to say that Henry VII’s prospects of holding on to his throne improved significantly after the birth of Prince Arthur. Henry deliberately chose the name Arthur to impress his subjects because it linked the Tudor dynasty to a glorious past. Securing a son and heir may have convinced his subjects that he was here to stay and that the dynasty was likely to survive. Richard III did not have a son and heir so he was forced to nominate his nephew John de la Pole as his successor. The fact that Arthur was the son of Henry of Richmond and Elizabeth of York did much to unite the Lancastrian and Yorkist factions. Arthur’s birth symbolised the union of York and Lancaster and helped end the dynastic conflict that had dominated English politics in the 30 years before Henry VII’s accession in 1485.
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Challenges to Henry VII’s Crown: Lambert Simnel, 1486–87



Challenges to Henry VII’s Crown


As a usurper himself, Henry was well aware that he was likely to face challenges to his crown. What he had done to Richard III in 1485 others might do to him. The two most serious challengers to his Crown were the Pretenders, Lambert Simnel and Perkin Warbeck.


The careers of Simnel and Warbeck were of great significance to Henry VII. They presented a dangerous challenge to his hold on the Crown because:





•  they gained the support of some powerful English nobles such as the Earl of Lincoln



•  they were entangled with other European states, particularly Burgundy and Scotland



•  their claims to the throne lasted for a long time – 12 years.





Lambert Simnel, 1486–87


Simnel was the 10-year-old son of an organ maker who was taken as a pupil by an Oxford priest, Richard Symonds. Symonds passed Simnel off as one of the princes in the Tower, Richard of York. However, in the light of rumours about the fate of the Earl of Warwick, he seems to have changed his mind and to have decided that Simnel would now impersonate Warwick. After moving to Ireland, Simnel received the support of the Lord Deputy, the Earl of Kildare. Kildare was one of the most powerful nobles in Ireland and his influence enabled Simnel to be crowned King Edward VI in Dublin. Backed by an Irish army, Simnel landed in England where he was supported by the Yorkist nobleman John de la Pole, Earl of Lincoln.


Diplomatic problems


Simnel’s claim to the throne caused various diplomatic problems because he received support from Ireland and Burgundy. Throughout the Hundred Years’ War against France, Burgundy had been England’s main ally. It was also the main outlet for the sale of English cloth. However, Margaret, the Dowager Duchess of Burgundy, sister of Edward IV and Richard III, had supported the Yorkists in the recent civil war and was only too willing to provide 2,000 mercenaries for Simnel’s cause. Fortunately for Henry, English support for Simnel was very limited, which enabled him to defeat the rebels at the battle of Stoke in 1487.


Henry VII deals with the rebels


As a deterrent to others in the future, those nobles who had fought at Stoke were dealt with swiftly in Henry’s second parliament, which met from November to December 1487. Henry attainted 28 of them and their lands were confiscated. Henry never again faced an army composed of his own subjects on English soil, although further rebellions did follow. The episode acted as a warning to Henry as it showed how vulnerable his kingship was, that the country was still unsettled and that his hold on the throne was fragile.





[image: ]
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Below is a sample exam question. Use your own knowledge and the information on the opposite page to produce a plan for this question. Choose four general points, and provide three pieces of specific information to support each general point. Once you have planned your essay, write the introduction and conclusion for the essay. The introduction should list the points to be discussed in the essay. The conclusion should summarise the key points and justify which point was the most important.




How accurate is it to say that in the years 1486–87 Lambert Simnel was never a serious threat to Henry VII’s kingship?
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Below is a sample exam question and a list of general points which could be used to answer the question. Use your own knowledge and the information on the opposite page to reach a judgement about the importance of these general points to the question posed.


Write numbers on the spectrum below to indicate their relative importance. Having done this, write a brief justification of your placement, explaining why some of these factors are more important than others. The resulting diagram could form the basis of an essay plan.




How far was Henry VII’s success in defeating the challenges to his throne in the years 1485–99 due to his victory at the battle of Stoke (1487)?








1  Warbeck’s capture and execution



2  Victory in battle is seen as a sign of God’s support



3  The French King abandons Warbeck



4  The death of the Earl of Lincoln at Stoke



5  Simnel is pardoned and employed in the King’s service



6  Victory in battle enhances Henry VII’s reputation
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Challenges to Henry VII’s Crown: Perkin Warbeck, 1491–99


Perkin Warbeck, 1491–99


In the autumn of 1491 Perkin Warbeck, a 17-year-old from Tournai in France, arrived in Ireland on a Breton merchant’s ship. He seems to have impressed the townsfolk, who assumed that he might be the Earl of Warwick. Warbeck denied this, claiming instead to be Richard, Duke of York, whose murder in the Tower was assumed but had never been proved.


The conspiracy achieved international recognition from France, Burgundy, the Holy Roman Empire and Scotland.


France


Charles VIII (1483–98) welcomed Warbeck at the French court and by the summer of 1492 approximately 100 English Yorkists had joined him in Paris. However, the Treaty of Étaples, which Henry VII negotiated with France in November, meant that he had to leave, so he fled to Flanders where he was accepted by Margaret of Burgundy as her nephew.


Burgundy


It is unlikely that Margaret believed Warbeck to be Richard, Duke of York but, in the absence of any genuine Yorkist claimant at liberty, supporting him would have been her best opportunity to dislodge Henry. She calculated that faithful Yorkists would be prepared to back anyone in order to challenge Henry VII’s right to the throne.


Holy Roman Empire


Not content with Margaret’s support alone, Warbeck found a more influential patron when Maximilian, the newly elected Holy Roman Emperor, recognised him as Richard IV in 1494. However, Maximilian did not have the resources available to finance an invasion of England.


Scotland


Warbeck’s attempt to invade England at Deal in Kent in July 1495 was a fiasco. He failed to gather sufficient local support and set sail for Ireland. Warbeck laid siege to the town of Waterford for 11 days without success and then departed for Scotland, where James IV gave him refuge and support. It is difficult to be certain how far James was convinced by Warbeck, if at all, but he did go so far as to give him his cousin in marriage together with an annual pension of £1,200. He also prepared a force to invade England.


These actions were enough to challenge Henry’s crown but fortunately for him, the Scottish invasion of England was a disaster. Warbeck received no support south of the border and retreated.


Warbeck’s failure


Warbeck returned to Ireland in July 1497, hoping for more success there. However, he found that even Kildare was temporarily loyal to Henry, so he set sail for the south-west of England hoping, as a last resort, to find support from this traditionally rebellious area. Again he was to be disappointed; having landed in Devon, he was driven out of Exeter and Taunton and only a few thousand people joined him. Within a fortnight it was all over, and Warbeck once again abandoned his followers. This time he fled to the sanctuary of Beaulieu Abbey in Hampshire. In August 1497 he was persuaded to give himself up.


Henry allowed Warbeck to remain at Court with his young Scottish bride, but he escaped in 1498. He was recaptured, publicly humiliated and then imprisoned in the Tower alongside the Earl of Warwick.


Warwick, weary of imprisonment, was persuaded by Warbeck to plan an escape – but they failed. In 1499, Warbeck was charged with trying to escape yet again and this time he was hanged. The Earl of Warwick was found guilty of treason and was executed a week later.





[image: ]


[image: ] Write the question      [image: ]


The following source relates to the challenges to Henry VII’s Crown by Perkin Warbeck. Having read the pages dealing with Warbeck’s challenge to Henry VII’s throne, write an exam-style question using the source. Remember, the question must focus on two enquiries.




Assess the value of the source for revealing





___________________________




and





___________________________




Explain your answer, using the source, the information given about its origin and your own knowledge about the historical context.
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SOURCE 1


From a letter written by the Spanish ambassador to England, Roderigo De Puebla, to King Ferdinand and Queen Isabella of Spain. It was written on 3 July 1495 at the Spanish ambassador’s residence in London.


Friday, the 3rd of July 1495, the so-called Duke of York came to England with all the ships and troops he had been able to obtain from the Duchess Margaret, the Archduke, and Flanders. A portion of his troops disembarked, but the people rose up in arms against them without the intervention of a single soldier of the King. The peasants of the adjacent villages made great havoc on the troops who had disembarked, and if the vessels had not been at hand not a single man of them would have escaped alive. A hundred and fifty were slain, and eighty made prisoners, among whom were eight captains, two of them being Spaniards, Don Fulano de Guevara (he is said to be a brother or nephew of Don Ladron) and Diego el Coxo (the Lame), the name which all the villagers gave him, saying, that the King came, and that he may go to his father and mother, who still live in France, and are well known; and they hold it to be as true as Gospel, as it really is, that this affair is like that of the Duke of Clarence, who was crowned King of Ireland, and afterwards discovered to be the son of a barber. They had no great reasons for congratulating themselves, and had gone, it is believed, to Ireland or Scotland; for it is not probable that they would return to Flanders, because the whole of that country is almost ruined, in consequence of their staying there, the King of England not having permitted any commerce with the Flemings, in which their principal riches and their life consists. Doctor De Puebla is very sorry for these foolish things, for such are they generally believed to be by those who have any knowledge of the affair. Certainly, if the King of the Romans (the Holy Roman Emperor) uphold the Duke of York and his supporters, it would be very difficult to conclude what your Highnesses wish. I think that all that the King of the Romans does is done by the instigation of the King of France. If your Highnesses had taken care earlier of the matter, all this would have been avoided. Nevertheless, it is not too late, even now, if your Highnesses like it.
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Challengers from abroad: Treaties and diplomacy


Henry VII and the challengers from abroad


Henry’s vulnerable position meant that non-intervention in European politics was essential if he was to stave off challenges to his throne from abroad. Therefore Henry’s foreign policy was designed to give him time to consolidate his position. Dynastic threats dominated his dealings with foreign rulers, which explains why the issue of security lay at the heart of his dealings with France, Scotland, Ireland and Burgundy.


Henry’s aim in foreign policy was defensive because of the nature of his succession – by usurpation. There were several claimants to his throne who successfully sought aid from foreign powers. Consequently, Henry had to be constantly on his guard against possible invasion.


The most vulnerable border was the northern one with Scotland; as Pope Sixtus V remarked, England was ‘only half an island’. Scotland was traditionally the back door into England, and one with which the French were particularly familiar. However, Henry could not afford to ignore Wales, through which his own armed invasion had come, or Ireland, which was volatile and prone to challenging the authority of the English Crown.


However, Henry’s most dangerous adversary was Edward IV’s sister, Margaret, Duchess of Burgundy. Margaret’s support for Henry VII’s enemies was persistent and significant. She had the means to fund plots, rebellions and armies and the iron will to support and maintain Henry’s opponents over a long period of time.


The power of diplomacy


Henry used diplomacy to develop a network of alliances and trade agreements to help cement his relationship with neighbouring European states. In this way Henry hoped to prevent his enemies from gaining sustained support from abroad. The following treaties and agreements were significant milestones in Henry’s European diplomacy.





•  Redon, 1489 – Henry promised to defend Brittany’s independence from France and support her with troops should the French invade. It failed to prevent France from taking over Brittany in 1491, however.



•  Medina del Campo, 1489 – Henry entered into a defensive alliance and trade agreement with Spain, the most powerful country in Europe, which was ratified by the promise of marriage between Henry’s son Arthur and Ferdinand and Isabella’s daughter, Catherine of Aragon. This agreement remained intact until the end of Henry VII’s reign.



•  Étaples, 1492 – Henry and Charles VIII made peace. The French agreed not to support Warbeck. The two nations maintained an uneasy peace until the end of Henry VII’s reign.



•  Magnus Intercursus, 1496 – Trading relations were resumed between England and Burgundy after the embargo of 1493.



•  Truce of Ayton, 1497 – Henry and King James of Scotland agreed to cease hostilities. The Scots promised not to support Warbeck.



•  Ayton, 1502 (the Treaty of Perpetual Peace) – The truce became permanent with the signing of this treaty.
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Below is a sample exam question and a paragraph written in answer to this question.


The paragraph contains a point and specific examples, but lacks a concluding analytical link back to the question. Complete the paragraph adding this link back to the question in the space provided.




How successful was Henry VII’s foreign policy in the years 1485–99?
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Henry’s foreign policy was careful, measured and subordinated to his primary aims of securing and maintaining his kingship of England. He did not have the money to fight wars, which is why he followed a largely non-interventionist foreign policy. Where possible he avoided antagonising his continental neighbours, preferring instead to encourage friendship by concluding treaties and alliances. However, Henry was not prepared to tolerate any foreign power threatening his security by supporting or funding rival claimants, such as the Pretenders Simnel and Warbeck. Overall,


___________________________


___________________________
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Below is a sample exam question and a list of general points which could be used to answer the question. Use your own knowledge and the information on the opposite page to reach a judgement about the importance of these general points to the question posed. Write numbers on the spectrum below to indicate their relative importance. Having done this, write a brief justification of your placement, explaining why some of these factors are more important than others. The resulting diagram could form the basis of an essay plan.




How successful was Henry VII’s diplomacy in the years 1485–99?








1  Redon



2  Medina del Campo



3  Étaples



4  Magnus Intercursus




5  Truce of Ayton



6  Treaty of Ayton







[image: ]




[image: ]






Challengers from abroad: Burgundy, France, Scotland and Ireland



Burgundy (the Netherlands)


Burgundy provided the greatest threat to Henry because Edward IV’s sister, Margaret, was married to the ruler, Charles the Bold. Margaret supported the Pretenders Lambert Simnel (1487) and Warbeck (1491–99) with finance and mercenary troops. She also threatened the important English cloth industry because Burgundy was a major trading partner of England. In fact, in 1493 Henry placed a temporary embargo on commercial dealings with the Netherlands because of Philip, Duke of Burgundy, and Margaret’s aid for Warbeck. This embargo hurt England’s lucrative trade as much as, if not more than, the Netherlands’. Burgundy ceased to be a threat after Margaret’s death in 1503.


France


Relations between France and England had been harmonious up to 1488, but this changed when France threatened the independence of Brittany. Henry announced his intention to assert his claim to the French Crown and sent an army across the Channel in 1492, where they laid siege to Boulogne. King Charles VIII wished to avoid war and agreed to sign the Treaty of Étaples in 1492. Charles promised not to give any aid to English rebels, particularly Warbeck. He also agreed to pay most of Henry’s campaign costs and to pay an annual pension of £5,000. Thereafter France ceased to be a serious threat to Henry’s throne.


Scotland


The most vulnerable part of Henry VII’s kingdom was its northern border with Scotland. Scotland was England’s traditional enemy, made more dangerous because of the Scots’ long-held alliance with France. Relations between Scotland and England were always tense, but Henry was faced by a serious challenge to his throne when King James IV offered Perkin Warbeck his support in 1495. The Scottish-supported challenge to Henry VII’s crown lasted two years, until James IV lost faith in Warbeck and decided instead to seek peace with Henry. The Truce of Ayton was concluded in 1497, becoming a full treaty of peace in 1502. The treaty was sealed in 1503 by the marriage of James IV to Henry VII’s daughter, Margaret. Thereafter Scotland ceased to be a problem for Henry.
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